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TOURISM ADMINISTRATION AND MANAGEMENT
PAPER —1I

Note : This paper contains fifty (50) Multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Identify the correct Statement :

(A) All visitors are tourists (B)  All travellers are visitors

(C) All travellers are tourists (D) All tourist are visitors

2.  PATA was initially founded in :
(A) Amsterdam (B) Tokyo
(C) Honulalu (D) Manila

3.  The Ethmic Tourists are :
(A) Those visiting religion places
(B) Those visiting unspoilt natural areas
(C) Those visiting areas rich in native culture

(D) Those visiting to see the monuments

4.  Which of the following is not a basic component of tourism

(A) Accommodation (B)  Accessibility

(C) Accessories (D) Attraction
5.  Name the country with highest tourism receipts :

(A) USA (B) UK (C) France (D) Italy
6. Si-yu-kioran Account of Travels was written by :

(A) Fa-Hien (B) Hiuen Tsang (C) Itsing (D) Dalai Lama
7.  The first wild life Sanctuary to be incepted in India was :

(A) Kaziranga (B) Manas (C©) Dudhwa (D) Corbett
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10.

11.

12.

13.

14.

15.

16.

Svayambhumath is located in :
(A) Nepal (B) Thailand
(C) Bhutan (D) India

Identify the Temple which has been declared as world Heritage :
(A) Parthasarathi (B) Meenakshi Sundareswar
(C) Sri Venkateshwar (D) Brihadhiswara

The first Church to be Founded in India was :
(A) St. Thomas (B)  St. Philomina
(C) St Paul (D) St. Lourds

The majestic Victoria Memorial is a unique tourist attraction of :
(A) Kolkata (B) Mumbai
(C) Delhi (D) Bangalore

The Fresco - paintings of Ajantha depict :
(A) Jataka stories (B) Bas - reliefs of Ramayana
(C) Motifs of Krishna Leela (D) Shivaleela

“ Garbha ‘ is the famous folk dance of :
(A) Punjab (B) Rajasthan
(C) Gujarat (D) Maharashtra

Shivapuri - Kaudiala area is Known for :
(A) Wind surfing (B) Rafting
(C) Hand gliding (D) Water - Skiing

Maslow’s hierarchy of needs in the context of tourism does not include :
(A) Inter personal (B)  Self - actualization
(C) Esteem (D) Relationship

Hotel Maurya belongs to
(A) Asian hotels (B) Oberai group
(C) ITC group (D) Hotel Corporation of India
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17. Match the items given in List-I with List-II :

List-1 List-11
(@) Lumbini (i) Maha parinirvana
(b) Bodhgaya (i) Birth
(c) Sarnath (iii) Enlightenment
(d) Kushinagar (iv) Dharma Chakrapravartana
Codes :

(@ (B () (@
(A) @) () @) (i)
B @ (@) (@v) (i)
(© @) G @ )
(D) @) @) @v) (@)

18. Correctly match the items given in List-I with List-II :

List-1 List-11
(a) Hawa Mahal (i) Hyderabad
(b) Charminar (i) Kanyakumari

(c) Hazrath - Nizam - uddin Dargha (iii) Jaipur
(d) Vivekananda Rock (iv) Delhi

Codes :

(D) (v) (D) @) ()



17.  GeEI-1 1 9&1 1 Ger-11 1 /&l § gafed s :

gar-1 g 11
(a) AT (i) e g
(b) =Y T (i)
() TR (iii) ST 1T
(d) FIAR (iv) oH-=h aiedd
P :

(@ @) (© @
(A) (@) @) @) (iv)
(B) @) @) (v) (i)
© (@) @) @ (@)
(D) (@) (i) @v) @)

18. =11 1 Gar-11 | Gafad i

ger-1 ger-11
(a) e HEA (i) TER
(b) RHAR (if) e FERE
(c) oRd FSHEH U (i) S
d) foaerr= fre (iv) fooet
N

(@ @B (© (@
(A) @) @ @) @)
(B) (D) @) (@) ()
© i) @ (@v) ()
(D) (v) (D) G ()
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19. Match the following List-I with List-II :

List-1 List-11
(a) Walkie - Talkie (i) Machine capable of dictating and recording
manages
(b) Isophone (ii) records on a special tape which is played by
the typist simultaneously
(c) Dietophone (i) Message transmitted to one or more similar
machines
(d) Teleprinter (iv) Electronic wireless system
Codes :
(@ ) (o (@@
(A) @) () Gv) @)
(B) Gv) @ G) (i)
© O @ @) @
(D) @) (v) () ()

20. Arrange the following in chronological order :
(i) Jha Committee

(i) Sargeant Committee

@i NCT
(iv) F R Allchin’s Committee
Codes :
(@ @B () (@
(A) (@) (@) (v) (i)
B) @) (@) @O ()
© Gv) @) @) (i)
(D) @) @) (v) (i)

21. Arrange the following in Chronological order :
(i) Hampi
(i) Khajuraho
(iii) Ajantha
(iv) Elephanta

Codes :

(@ (b)) () @
(A) @ @) (@Gv) @)
B) @ @) (Gv) ()
Q) (@) @) @v) @
(D) (i) (v) () (@)
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22. Match The following List-I with List-II :

List-1
(a) Ranthambore Tiger Sanctuary
(b) Sanctuary Bay Resort
(c) Bangaram Island Resort
(d) Hiranandini Palace Garden
Codes

(@ () (o @)
(a) @ (@v) @) (i)
(B) (@) @) (@) (@
© @ @) (@v) (i)
(D) @) @) @ (@)

List-11
i)  Arabian sea
ii) Aravalli, Vindhya Ranges
iii) Vembahadu lake

iv) Singarpurman Koili, Chennai

23. Assertion (A) : India despite having tremendous tourist appeal still has very
Dismaying performance in international tourism

Reason (R) : The country has Failed to incorh its strength only due to lack of
appropriate marketing strategies

(A) true (R) False
(A) False (R) true

A) Both (A) and (R) true and (R) is the Correct Explanation of (A)
B) Both (A) and (R) true and (R) is not correct explanation of (A)

24.  Match the following monuments with the Countries given :

(a) Statue of Liberty
(b) Pyramids

(c) Borobuder

(d) Angokarvat
Codes :

(@ @) (o @)
(A) @ G @v) (i)
(B) i) @ () ()
© @v) @O @) ()
(D) @) @) @v) @)

()

(i)
(ii)
(iv)

Egypt
Cambodia

USA

Indonesia

10



get 1 et 11
(a) TUYEIR TR AWIRTT () WS WFR
(b) SYIRTY wrel fEr (i) 3T, foea et
(c) A g fEe (iti) oG e
(d) & e Hee S (iv) TEeRqT Figeh ==
wE:
(@ @) () @
(A) @ (@Gv) @) (i)
(B) ) () () (D)
© @ (@) (v) (i)
(D) G @) @ ()
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25.

26.

27.

28.

29.

Which one of the following is correctly matched :
(A) Hoyasala art Bijapur

B) Chalukyan art at Belur - Halbeed
Golgumbaz at Pattadakal

Chamundeswari Temple at Bangalore

Assertion (A) : It was only through the international labour organisation (1 < 0) that
holidays were made paid holidays.

Reason (R) : By which the workers earned their regular income along with a month
of holidays every year.

(A) Both (A) and (R) true and (R) is the correct explanation of (A)

(B) Both (A) And (R) true and (R) is not the correct explanation of (A)
(C) (A) true (R) false

(D) (A) false (R) true

Assertion (A) : Marine travel guides are not specialized in undersea - viewing.

Reason (R) :  Because they use specialized glass boats attached with special air
chambers and other sophisticated safety devices.

(A) Both (A) and (R) true and (R) is the correct explanation of (A)
(B) Both (A) and (R) true and (R) is not the correct explanation
(C) (A) true (R) false

(D) (A) false (R) true

Assertion (A) : Taj Mahal is thronged by people of the world all throughout the year
and therefore the infrastructures are developed by the government
and private bodies.

Reason (R) :  The effect of infrastructure development leads to the development of
the region.

(A) Both (A) and (R) true and (R) is the correct explanation of (A)

(B) Both (A) and (R) true and (R) is not the correct explanation of (A)

(C) (A) true (R) false

(D) (A) false (R) true

Which one of the following is not correct :

(A) A. H. Maslow’s Hierarchy model

B) Megregor’s participation model

Herberg’s maintenance and motivational model

)
D) Alderfer’s reinforcement model
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25. = H @ oH e @@ AAH §2
(A) B el - fosTgR (B) IR el - e BaAfoS

(C) TieTJrIS - qgTeehal (D) =TT HiE - SR

26. AMURAT (A) : TP 97 TS (STE.TA.3N) F FHRU & TS FeAS Y STAURIM (Paid
Hodiay) ¥4 8 |
& (R) : Y HHATRA] Teh HIg 1 Hodd 3Tl el Hehl |
(A) (A) 9 (R) I 92l § TH (R), (A) Tl T @2 |
(B) (A) @ (R) S W& ® foh=g (R), (A) i TE =0 T 1
(C) (A) ¥ 8 I (R) 7o T
(D) (A) 7o € & (R) T2 T

27. IMURIT (A) : T U YSYh (M) i g o X A @ et farsromman =i et B
& (R) : Fiifeh o TR =R (Air Chamber) TS 3T Tehien! YR&I3T | Ih HIA hl
TS T HAT HA |

(A) (A) W (R) 3FI @&l € TH (R) , (A) Tl T&I A B |

(B) (A) T (R) IHl W&l & @l (R) , (A) T Tl =0 1 &
(C) (A) §& 8 TH (R) e B

(D) (A) 7TeTd € Ud (R) H&t €1

28. afieRed (A) :  Hifr dromed W TR g R W S ot S @ W B ®, gHfer
TR UE Fsht &l gRT o8l R SERyd gfaws fasmfaa &t T T

®W (R) : STURA glaensti & foerfad 29 @ & o1 fasm 2 g1
(A) (A) T8 (R) IFI ¥&I € T (R) , (A) ! 9 A B |

(B) (A) TF (R) THi W&l € fhg (R) , (A) i &I =08 T € |

(C) (A) @I §Td (R) Tord B |

(D) (A) TeTd € Ud (R) Wal €1

29. T H 9 B FUF TATE?
(A) TTIHRIA 6 BRRSTHE Aled
(B) HINR =1 UEIfIOR Higd
(C) T ol A== QN HifeawM &l Ated
(D) TeEH &l YgThHHE= Aied
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30. Which one of the following is correct :
(A) SN DT Women’s university - Rajasthan

(B) Mother Teresa women’s university - Tamilnadu
(C) Banasthali Mahila Vishwavidyalaya - Rajasthan
(D) Sri Padmavathi Mahila Vishwavidyalaya - Karnataka

31. Arrange the legislations covering the gourmet of issues relating to labour ;
List-I with List-II.

List-1 List-1I
(a) Equal remuneration Act (i) 1948
(b) Payment of Bonus Act (i) 1965
(c) Payment of gratuity Act (iii) 1972
(d) Minimum wages Act (iv) 1976
Code

(@ @) (o (@@
(A) @) @) @ (1)
(B) @) () @v) (@)
(© Gv) (@) @) (@)
(D) @) (@) @) ()

32. Match the following List-I with List-II.

List-1 List-11
(a) Central America (i) Gautamala
(b) Caribbean Islands (i) Dominican Republic
() Mid Atlantic (i) Guyana
(d) South America (iv) Uruguay
Codes

(@ b (o (@
A) 6 @ @) @)
B (i) (v) @ 0
© () @) @) @)
O (O @) @ 0

33. SIT A Stands for :

(A) South Indian Travel Association

(B) Star International Travel Association
(C) Students international Travel Association
(D) Spa international Travel Association

J—9309 14



30. FAH YA T T?
(A) TH.UA.ELL3 wfgan foavdfasmed - TFed™
(B) WX 2t forwaforanery - difHerTg
(Q) It fovafaame - e
(D) &t ugHTEd Hfgen favafammer - At

31. @ed 90 g guensi ¥ fued & fou M T SEH w6 S gEi-1 T G-Il |, 3%
ﬂ'ﬁ'ﬁvﬁ[w:

-1 gar-11
(a) HHM URHHewR Afufrd (i) 1948
(b) SN 1 sTerRRf sTffTEH (i) 1965
() U I srerrft sAfufm (i) 1972
(d) TegaH oaq Afufm (iv) 1976
Fie:

(@ (b)) (o (@
(A) @) G @ )
(B) @) (D) @v) ()
(© Gv) () @) ()
(D) @) () @) (v)

32. gEi-I & gEi-11 § gafed &I

-

-1 -1
(a) <hatd AR (i)  TIeeHTE
(b) Hfoa g (i) <Siffe TR
(c) T wedifes (iti) 1AM
(d) <o sl (iv) S
¢

(@ (b)) (© (@)
(A) (@ (@) (@) (iv)
(B) @) (v) () ()
Q) @) () (@) ()
D) @ @) @) @
33, Hier (TH.IME.AN) fohash Gikm &9 § 2

(A) TS Efead Taat TEfaesm (B) R 30 ¢ddl THIFIUIH

(C) ETH IR ¢ THIMTRH (D)  (THW.U) T ST gael THITIRA
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Read the passage below and answer the questions from 34 - 38

‘Travel motivation” is very vital for those concerned with destination marketing,
planning and service providers. It is due to the fact that the tourist demands like the
type of transport, Accommodation, food, recreation etc., are largely Guided by travel
motivation. In general the demands of pilgrims, eco - tourist adventurists, recreationists
etc are valied. The travel motivations often change from time to time due to the interplay
of availability of leisure, the immediate need, state of mind so and soforth. Evidently
the tourist may not visit the same destination all the times. Like wise the tourists visiting
same destination may have different purposes, Hence to understand travel motivation
an indepth research is the need of the hour and certainly instrumental in triggering the
speedy development of tourist destination besides helping the tourism professionals

and entrepreneurs.

34. As per the passage travel/tourist motivation in vital for :
(A) Destination planners and market professionals
(B) Hoteliers, Transport Organisers, Agents and Guides,
(C) Tour Operators Media Personnel
(D)  All the above

35.  Which of the following statement is not in support of the passage ?

(A) All the tourist visiting same destination always have same purpose

(B) An individual visiting the same destination always has same motivation

(C) Tourist travelling to different destinations always have different travel motivation
(D) Different tourist visiting same destination may have similar travel motivation

36. Identify the most appropriate statement :
(A) Travel motivation does influence preference for bourd and lodge
(B)  Travel motivation does influence the selection of destination
(C) Travel motivation does influence the preferred tourist activity of the destination
(

D) All the above there statements are true
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=T TTT3T S ITEY GT Y97 T&AT 34 @ 38 Tk kT 307 aiferd |

‘o rfURon’ T T o foaumE, fESE 2R Y 9 § Wi SAfhal & fau
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Ifg IS ek SHT e TIM W 31 ¢ o SUh fafisl S899 8 | Thetd: A AR 1
YU % ToTT T STTHM o STEvashdl G0 &t |7 § S GHIeh T=aea T & el fashrd =1
fafved oM | 39 % wY-T1y 39 W A aditasti SR sufa @t ot werern e

34. TH TN % STIER AR/GHCH ARTIRON AETIF ¥
(A) T TH % Sl Td foqum sremfast & fau |
(B) eIt JEfHAl, Uiae Gial, Tsiel 3R meel o forg |
(C) 3R Hararhl, Hifean swH=ifl o faw |
(D) IWIH |4t & fau)

35. frmfafed weml § 9 ®F o 59 T & el H 91 82
(A) T Tk H Teh & T TIH W Fed 3T § Th & 3exd ol ¢ |
(B) T ARG Sl Ueh & T T W SR TEodl & ol STk Tad el STTION Tt ¥ |
(C) fafvm Tex Tori W ™ arel weieshl st A AR fafie gt g
(D) T & TIed TIMl W Yga aet Teehi i A= IFHIROT THE & Tehelt 7 |

36. HHMHA ®UA ol e i
(A) AT ARTYON e 3R Targ o SAfHE S gefad i €
(B) AT AU T=7ea T o =7 hl FIfad et € |
(C) T SARIYION e TIH W ATmTia Tiesh 561 s genfad st 81
(D) SWRG Tt oA T T
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37.

38.

39.

40.

41.

As per the passage, which of the following is most appropriate answer ?
A) At times the availability of leisure may influence travel motivation

(
(B) Sometimes the available dispensable income may influence travel motivation
(C) Both the above two are wrong

(

D) (A) is true but (B) is wrong

Find out the wrong interpretation of the passage
(A) Study on travel motivation is very complex subject

(B) Studies on travel motivation have proved instrumental in effective development
of destinations

(C) Studies on travel motivation have proved useful to various Tour entrepreneurs
and professionals

(D) Statement (A) and (C) are true but (B) is wrong

Market place is an expression for
A) Specious market place

B

~—"

Shopping on internet

C) Close proximity of market from buyer’s place

(
(
(
(

S

Ample time for shopping

Four pillars of marketing are :
(A) Target market, customer needs, integrated marketing and profitability
(B) Target market, customer needs, advertising low price

(C) Strong financial basis of the firm, customer needs, integrated marketing and
profitability

(D) Target market, customer needs, integrated marketing promotion

If total customer value is 20,000 , the total customer cost is Rs. 16,000, then delivered
value would be :

(A) Rs. 36000.00 (B) Rs. 18000.00
(C) Rs. 12000.00 (D) Rs. 4000.00
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37.

38.

39.

40.

41.

e % SR, fafafed § ¥ (do9) ggfad oA @ e ?
(A) U I USRI -t A SARTON B gnfad F Hehdl ¥
(B) Hft-heft SIS ST ST AT STRTYTON 1 Feniferd T Hehell T |

(C) IWRI® S HF Td

(D) (A) W& & T (B) 7o ¢ |

freAfafed ® @ i w1 S | Terd faver § 2

(A) T ARIYION 1 LI Teh oIgd & wied faud T

(B) AT STRTYRON =T 31e7= e T & Torehra | worelt @me fag g ¥

(C) AT SIFHIROT < 3127 fafie 2oR el wd SHamnfasii & fag anveees fag g Tl

(D) (A) 3R (C) T FEl € T H¥F (B) oA B |

fouoE Tom 9 st ®

(A) G foraor wm

(B) 3UIAE BN Glleerl

(C) WURER & TM ¥ fa9uH T i wHidar
(D) TiEER * fore gor g

faqur 3 o) W R

(A) wferd STSIR, SHashdl St BT, Thihd faqu TR ATRRt

(B) dfard SR, 6kt =kl i, fommas, iR f= gour |

(C) T 1 Ygg faxia MR, gt i AT, Thigd faIuM 3R AR

(D) fed oIS, ekl ot A, Tehishd forqur R Hicdre |

Ifg Fe1 Hashdl Yed 20,000 FIT , HIH AT 16,000 FIC B @1 Fid o= 2
(A) 36,000 T (B) 18,000 ¥UT (C) 12,000 ¥UT (D) 4000 ¥UQ
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42. The statistical techniques used to determine the few underlying dimensions of a larges
set of intercorelated variables in known as :

(A) Factor Analysis
(B) Conjoint Analysis

(C) Discriminate Analysis
(D)

Cluster Analysis

43. Match the following List-I with List-II :
List-1 List-II

(a) programed buyers (i)  Seethe product as very important and demand
the deepest discount and highest service

(b)  Relationship buyers (i) Regard the product as modulately important
and are knowledgable about competitive
products

(c) Transaction buyers (ili) See the product very important to the

operations and are sensitive to price and service
They are interested in some discount as the
above average services

(d) Bargain Hunters (iv) Buy the product as a routine purchase item
usually paying full - price and receiving below
average service

Codes :

(@ B () @
(A) @) @) @) (iv)
(B) (@) (i) @) @
(© (v) @) @) ()
D) @ @) (v) (i)

44. Which of the following is not the Characteristics of open ended question ?

(A) This type of questions can be used when all the possible answer categories are
not known

(B) This type of questions allow the respondents to answer adequately

(C) This type of questions can be used when there are too many potential answer
categories

(D) The answer of such questions can be compared with the answer of other person
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42, 3T<R-GE HafYd Ial < JaR U< o AxHigd Tar ol F9ia w1 ¥ g4 Aiferent ae-is
T T e & 2

(A) wR fagevor (B) Weg® fawervor
(C) fauges fageroo (D) =3 fagetwm

43. G-I 1 Gai-11 | gafad s

get-1 ger-11
(a) FEATSHIHRA (i)  SUICH! Fgd STEYIH A ¢ IR 98 Rl g2 W
I=IAH |l A H T
(b) | HIhdl (i) cTE i rfufafyd stavas Ad €1 iR gfaardt
carel Rl off I W
(c) HAERIRe wrwd (iii) IS 1 F=TH & TAQ STaeash FHe ¢ iR 7
TS {1 o fAT Hogeh B § o o g2 | o foeraed
T ¢ Hifer Fad Sirad 2t 2|
(d) rereRa (iv) IS ] T 9] % €9 H 3 T ¢, T: Fel
oo i ST R § 3R 39 3ied % %A Jand
T B |
FE
(@ @) () @
(A) @) @) () @)
(B) () (D) (v) ()
Q) (v) @) (@) @)
(D) (@) (@) (v) (i)

44, Trafafea § | otene o U= &1 HIAE A0 TG 2
(A) THUHR F U 1 3H THT YD FoRaT a1 € Sfe Wt Gord IR hifeAl & FH A A
(B) IH YR o Y TR ol T ST A HT STTE < T
(C) 39 YR % I ol JANT q9 fohall ST Tehal ¥ Tl STk IR i STAMH Hofad SR
Fifear e |
(D) TH Y & W I o 3T ATHAl & ST H i o Fehell T |
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45. Purposive sampling is based upon :

(A)

(B)

(©
(D)

Certain units of the population that have a larger probability of selection then
other units

The identified population sample is first divided into a number of sub population
samples

Every unit of sample has a pre - specified probability of its inclusion in the sample
All the above

46. Identify the criteria for the case - study

(A)
(B)
(©
(D)

It may be considered independent

An individual can reflect the culture of the whole group
To explore various factors and the element

All the above

47. Which one of the following is not the money element needed to summarize an account

Beginning balance
Assets

Reductions
Ending balance

48. A journal entry that contains more than just two accounts is called

>

)
B)
C

(
(
(©
(D)

A posted journal entry

An adjusting Journal entry
An erroneous Journal entry
A Compound Journal entry

49. Which of the following Combination is incorrect ?

(A)

Prague - Czech Republic
Vienna - Austria

Naples - Italy

Barcelona - The Netherlands

50. Identify the correct combination :

(A)

J—9309

Lira - Austria
Yen - Indonesia
Rand - South Africa
Kyat - Thailand
-00o0-
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45.

46.

47.

48.

49.

50.

SERYT HfeAT T SER T
(A) STHEA % F THEAT ST T2 i 3T SRS ol o § SAHR e et 1

(B) Tafgd Smden & e i Yom 39 SHue gt ag-derss dite | fawfaa foea
SATE |

(C) T THTE & Afuet & Afyar & wnfyet fha S o0t gai-Tfera e &t 71
(D) IWIb g+t |

A 1T (T LSl) & HAYSIES 7T & ?

A) IR Wd= HHE S

(
(B) THK HE i WK &l Tk AfH & Ffaaiiard s qehdl © |

(C) fafvs hRehi Tel dedl skl =Wl

(D) W Tt |

frafafeaa & @ o9 o1 gead 78 8, S fFE o &1 9R TR & % fa stevaes T8 7 2
(A) YR SR (B) UREHfa

(C) &I (D) 3= SRR

Th Sl gfafs fa 911 S 9 31fes i@ Bid §; S R shel Sl § ?

(A) Sl gfafl we (B) SHA Yfafte sl HHEISH Tl
(C) S gfem | Terdl (D) W HgH St grafy
frafafad & & oF @1 T2 TeT e ?
(A) T - ehIEATET R TN @B) fe=mm - sifegn
(C) 9ed - gl (D) AT - Heervs
&l T2 I 989 HIFT
(A) o - sfegn (B) ¥ -- SUSHRMA
(C) & -- <feror aaftmam (D) @ -~ UEeAvE
-00o0-
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